0.10 < ¢* < 0.98GeV?/ct

1.1 < ¢® < 2.0GeV?/c*

2.0 < ¢ < 3.0GeV?/c*

3.0 < ¢? < 4.0GeV?/ct

As —0.040 £3-9% + 0.007 —0.134 70:138 +0.003 —0.018 £0:105 £ 0.001 —0.118 £0:135 £ 0.007
Ay —0.047 (009 £ 0.013 0.283 10121 +0.028 0.261 £0:135 +0.042 0.002 +3-155 4 0.045
As —0.008 3:9% 4 0.011 —0.110 9155 4+ 0.008 0.028 *9-124 4+ 0.008 0.015 70157 £+ 0.005
Aps 0.167 19138 £ 0.016 0.213 70158 +0.005 0.077 £9:151 £ 0.004 —0.047 £0:13} £ 0.001
Ar 0.112 3952 4 0.010 —0.193 +3-157 4+ 0.006 —0.162 70139 + 0.003 —0.004 70155 + 0.003
Ag 0.021 3980 4 0.012 0.130 *9-203 4+ 0.008 —0.060 *9152 4 0.006 0.005 70158 £+ 0.003
Ay 0.043 +3:952 4 0.009 —0.126 3135 4+ 0.010 0.013 3192 4+ 0.007 —0.129 £0:135 £+ 0.003
4.0 < ¢® < 5.0GeV?/ct 5.0 < ¢2 < 6.0GeV?/c? 6.0 < ¢2 < 7.0GeV?/c? 7.0 < ¢2 < 8.0GeV2/c?
A —0.064 399 4+ 0.005 —0.076 *9119 + 0.004 —0.073+9:989 + 0.007 0.168 70305 £ 0.005
Ay 0.076 *9-125 £ 0.047 —0.457 10152 £0.048 —0.104 19125 +0.052 0.058 70152 + 0.058
As 0.051 *9-145 +0.005 —0.011 3139 4+ 0.006 0.040 £3-117 + 0.006 0.084 ¥3-122 4+ 0.007
Ags —0.085 3197 4 0.009 0.116 *9124 4+ 0.003 0.063 *9:987 + 0.005 0.100 75:035 £ 0.006
Ay —0.146 7313 + 0.003 0.058 £0-132 +0.003 0.181 0135 + 0.005 0.064 *9-122 +0.004
Ag 0.183 10170 £ 0.001 —0.195 10156 + 0.007 0.004 70135 +0.003 0.078 T0-13% + 0.002
Ay 0.160 *9:193 4 0.008 —0.001 79135 +0.002 0.125 79992 4+ 0.005 0.195 70395 £ 0.003
11.0 < ¢ < 11.75GeV2 /et 11.75 < ¢ < 12.5GeV?/e* 15.0 < 2 < 16.0GeVZ /et 16.0 < ¢ < 17.0 GeV?/c*
As 0.124 73950 4 0.008 0.124 F3-956 4+ 0.008 —0.108 T9-95% + 0.005 0.016 *9-957 + 0.006
Ay —0.058 70101 +0.063 —0.242 70192 +0.056 0.059 70951 +0.007 —0.110 73957 4+ 0.028
As —0.042 10402 £ 0.013 0.097 £0-165 £ 0.012 0.039 £0-05% £+ 0.007 —0.138 70973 + 0.008
Aps 0.016 *9-93 + 0.003 —0.099 £0:07¢ +0.003 —0.117 +397¢ +0.010 —0.035 10057 £ 0.010
Az —0.064 73119 4+ 0.002 0.144 75118 4+ 0.002 —0.124 £3-987 4+ 0.004 —0.081 10:087 & 0.006
Ag 0.072 19133 +0.003 —0.017 19142 £ 0.003 0.087 £0-095 + 0.005 0.013 70985 + 0.005
Ay —0.082 55957 4 0.003 —0.014 73952 4+ 0.002 0.145 £3589 4+ 0.007 0.058 +9-95¢ 4 0.004
17.0 < ¢? < 18.0GeVZ /et 18.0 < ¢® < 19.0GeV? /et 15.0 < ¢* < 19.0GeV?/ct

As —0.145 F0-05] £ 0.010 0.050 5158 +0.011 —0.053 79947 4+ 0.011

Ay —0.071 13953 4+ 0.045 —0.120 79135 4+ 0.059 —0.049 T0-939 4+ 0.027

As —0.020 73985 4+ 0.015 0.186 ¥9134 + 0.015 —0.010 £0:047 £ 0.008

Ags —0.109 +0-057 & 0.009 —0.167 13132 £+ 0.007 —0.096 79-94% 4+ 0.008

Az —0.025 73958 4+ 0.011 0.022 £3-125 4+ 0.006 —0.062 70918 +0.014

Ag 0.131 70499 4 0.004 —0.029 70139 + 0.010 0.059 T9-0%9 +0.010

Ay 0.116 £5:595 + 0.006 —0.147 53128 + 0.007 0.06579:94% +0.016




